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1. If A=[
3  3  3
3  3  3
3  3  3], 𝐴4is equal to

a) 27𝐴b) 81𝐴c) 243𝐴d) 729𝐴
2. If 𝜔 is a complex cube root of unity, then the matrix 𝐴= [

1 𝜔2 𝜔𝜔2 𝜔 1𝜔 1 𝜔2] is a

a) Singular matrix b)Non-symmetric matrix

c) Skew-symmetric matrix d)None of these

3. The values of 𝜆 and 𝜇 for which of the system of equations 𝑥+ 𝑦+ 𝑧= 6, 𝑥= 2𝑦+ 3𝑧= 10 and

 𝑥+ 2𝑦+ 𝜆𝑧= 𝜇 have infinite number of solutions, are

a) 𝜆= 3,𝜇= 10 b)𝜆= 3, 𝜇=≠ 10 c) 𝜆 ≠ 3, 𝜇= 10 d)𝜆 ≠ 3, 𝜇=≠ 10

4. If 𝐴 and 𝐵 are square matrices of the same order such that (𝐴+ 𝐵) (𝐴 ― 𝐵)=𝐴2― 𝐵2, than

(𝐴𝐵𝐴―1)2
is equal to

a)𝐵2 b) I c) 𝐴2𝐵2 d)𝐴2

5. If 𝐴 is a skew-symmetric matrix, then trace of 𝐴 is

a)1 b) ―1 c) 0 d)None of these

6. A square matrix 𝑃satisfies 𝑃2 = 𝐼 ― 𝑃, where 𝐼 is the identity matrix. If 𝑃𝑛 = 5𝐼 ― 8𝑃, then 𝑛 is 

equal to

a)4 b)5 c) 6 d)7

7. Let 𝐴 and 𝐵 are two square matrices such that 𝐴𝐵= 𝐴 and 𝐵𝐴= 𝐵, then𝐴2equals to

a)𝐵 b)𝐴 c) 𝐼d) 𝑂
8. 𝐴and𝐵 are two square matrices of same order and 𝐴′ denotes the transpose of 𝐴, then

a) (𝐴𝐵) = 𝐵′𝐴′
b)(𝐴𝐵)′ = 𝐴′𝐵′
c) 𝐴𝐵= 0⇒|𝐴| = 0or|𝐵| = 𝑂
d)𝐴𝐵= 0⇒𝐴= 0or𝐵= 0
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9. The element in the first row and third column of the inverse of the matrix [
1 2 ―3
0 1 2
0 0 1 ] is

a) ―2 b)0 c) 1 d)7

10. If 𝐴= [
cos𝑥 sin𝑥 0― sin𝑥 cos𝑥 0

0 0 1] = 𝑓(𝑥), then 𝐴―1 is equal to

a) 𝑓( ― 𝑥) b)𝑓(𝑥) c) ―𝑓(𝑥) d) ―𝑓( ― 𝑥)
11. If 𝐴= [

0 0 1
0 1 0
1 0 0],then 𝐴―1is

a) ―𝐴b) 𝐴c) 1 d) None of these

12. If 𝐴= [1 3
3 4] and 𝐴2―𝑘𝐴 ― 5 𝐼2 = 𝑂, then the value of 𝑘 is

a)3 b)5 c) 7 d) ―7

13. Consider the following statements :

1. There can exist two matrices 𝐴, 𝐵 of order 2 × 2 such that 𝐴𝐵 ― 𝐵𝐴= 𝐼2
2. Positive odd integral power of a skew-symmetric matrix is symmetric

a)Only (1) b)Only (2) c) Both of these d)None of these

14. If [
1 1 1
1 ―2 ―2
1 3 1 ][

𝑥𝑦𝓏] = [
0
3
4], then [

𝑥𝑦𝓏] is equal to

a) [
0
1
1] b) [

1
2―3] c) [

5―2
1 ] d)[

1―2
3 ]

15. The number of non-trivial solutions of the system 𝑥 ― 𝑦+ 𝑧= 0, 𝑥+ 2𝑦 ― 𝑧= 0, 2𝑥+ 𝑦+ 3𝑧= 0 is

a)0 b)1 c) 2 d)3

16. If [
1― 1      𝑥
1     𝑥      1𝑥 ― 1     1]has no inverse, then the real value of 𝑥 is

a)2 b)3 c) 0 d)1

17. If [
2 + 𝑥 3 4

1 ―1 2𝑥 1 ―5] is a singular matrix, then 𝑥 is 

a)
13

25
b) ― 25

13
c)

5

13
d)

25

13

18. The rank of the matrix 𝐴= [
2 3 1
0 1 2
0 ―2 ―4

4―1
2 ] is

a)2 b)3 c) 1 d) Indeterminate

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114



19. If 𝐴= [𝑎 𝑏𝑏 𝑎] and 𝐴2 = [𝛼 𝛽𝛽 𝛼], then

a)𝛼= 𝑎2 + 𝑏2, 𝛽= 𝑎𝑏
b)𝛼= 𝑎2 + 𝑏2, 𝛽= 2 𝑎𝑏
c) 𝛼= 𝑎2 + 𝑏2, 𝛽= 𝑎2― 𝑏2

d)𝛼= 2 𝑎𝑏, = 𝑎2 + 𝑏2

20. If 𝐴= [𝑎𝑖𝑗] is a scalar matrix, then trace of 𝐴 is

a)∑𝑖∑𝑗 𝑎𝑖𝑗 b)∑𝑖 𝑎𝑖𝑗 c) ∑𝑗 𝑎𝑖𝑗 d)∑𝑖 𝑎𝑖𝑖
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